

RESEARCH ARTICLE



OPEN ACCESS

Received: 16-08-2024

Accepted: 27-01-2025

Published: 24-02-2025

Citation: Kishore J, Verma V (2025) Sums of Finite Product of Chebyshev Polynomials of Third and Fourth Kind and Fibonacci and Lucas Numbers. Indian Journal of Science and Technology 18(6): 464-476. <http://doi.org/10.17485/IJST/v18i6.2669>

* **Corresponding author.**

jkish1111@gmail.com

Funding: None

Competing Interests: None

Copyright: © 2025 Kishore & Verma. This is an open access article distributed under the terms of the [Creative Commons Attribution License](https://creativecommons.org/licenses/by/4.0/), which permits unrestricted use, distribution, and reproduction in any medium, provided the original author and source are credited.

Published By Indian Society for Education and Environment ([iSee](https://www.isee.in))

ISSN

Print: 0974-6846

Electronic: 0974-5645

Sums of Finite Product of Chebyshev Polynomials of Third and Fourth Kind and Fibonacci and Lucas Numbers

Jugal Kishore^{1*}, Vipin Verma²

¹ Department of Mathematics, School of Chemical Engineering and Physical Sciences, Lovely Professional University, Phagwara, 144411, Punjab / Govt. Degree College, R. S. Pura, Jammu (J&K), India

² ASMSOC, SVKM's Narsee Monjee Institute of Management Studies (NMIMS) Deemed-to-be-University, Mumbai, 400056, Maharashtra, India

Abstract

Objective: Classical orthogonal polynomials are extensively used for the numerical solution of differential equations and numerical analysis. Various generalization problems involving Chebyshev polynomials have been studied and one such area is the classical linearization problem. In this paper, we will consider a generalized classical linearization problem and study some identities representing the sums of finite products of the 3rd and 4th kinds of Chebyshev polynomials, Fibonacci numbers, and Lucas numbers as a linear sum of the Chebyshev polynomials of 2nd kind and their derivatives. **Methods:** Differential calculus, combinatorial, and elementary algebraic computations are employed to yield the results. **Findings:** A new set of identities expressing the sums of finite products of the 3rd and 4th kinds of Chebyshev polynomials, Fibonacci numbers, and Lucas numbers as a linear sum of the 2nd kinds of Chebyshev polynomials and their derivatives are studied. **Novelty:** Earlier studies have established the sums of finite products of the Lucas numbers, Fibonacci numbers, Fibonacci and Pell polynomials, and Chebyshev polynomials of the 1st and 2nd kinds as a linear sum of other orthogonal polynomials. However, representations of sums of finite products of the 3rd and 4th kinds of Chebyshev polynomials, Fibonacci numbers, and Lucas numbers as a linear sum of the 2nd kinds of Chebyshev polynomials and their derivatives have not been studied, which is the prime focus of this manuscript.

Keywords: Linearization; Chebyshev Polynomials; Fibonacci Numbers; Lucas numbers; Orthogonality

1 Introduction

In number theory, the Fibonacci sequence is one of the most widely studied mathematical objects due to its wide spectrum of applications in nature^(1,2) and in various fields of science and technology ranging from physical science to engineering⁽³⁾. Several authors have attempted to explore their numerous generalizations from diverse

perspectives. One such generalization culminated in the development of the theory of Fibonacci polynomials and Chebyshev polynomials. Classical orthogonal polynomials are extensively used for the numerical solution of differential equations and numerical analysis^(4,5). Chebyshev polynomials form an intriguing class of these types of polynomials that attracted the attention of recent researchers. Among the four kinds of Chebyshev polynomials⁽⁶⁾, a wide variety of literature is available on the Chebyshev polynomials of the 1st and 2nd kind⁽⁷⁾, whereas limited work has been done on the Chebyshev polynomials of the 3rd and 4th kind^(8,9), which opens up an intriguing field for prospective researchers.

Recent researchers have shown a keen interest in studying classical linearization problem representing the sums of finite products of Chebyshev polynomials as a linear sum of other similar orthogonal polynomials^(10,11). Here in this work, some new representations for the sums of finite products of the 3rd & 4th kinds of Chebyshev polynomials, Fibonacci, and Lucas numbers as linear sum of Chebyshev polynomials of 2nd kinds and their derivatives are considered.

Firstly, we will discuss the essential terminology and notations that will be used throughout the work, as well as the introduction of the theme of the manuscript by citing the earlier results by various authors on the sums of products of some special orthogonal polynomials.

Definition 1.1 . For any non-negative integer α , the sequence of *Fibonacci numbers* (F_α) is defined recursively as follows:

$$F_\alpha = \begin{cases} 0, & \alpha = 0, \\ 1, & \alpha = 1, \\ F_{(\alpha-1)} + F_{(\alpha-2)}, & \alpha \geq 2. \end{cases} \quad (1.1)$$

Definition 1.2. For any non-negative integer α , the sequence of *Lucas numbers* (L_α) is defined recursively as follows:

$$L_\alpha = \begin{cases} 2, & \alpha = 0, \\ 1, & \alpha = 1, \\ L_{(\alpha-1)} + L_{(\alpha-2)}, & \alpha \geq 2. \end{cases} \quad (1.2)$$

Definition 1.3. For any non-negative integer α , the sequence of the *Fibonacci polynomials* ($F_\alpha(\zeta)$) is defined recursively as follows:

$$F_\alpha(\zeta) = \begin{cases} 0, & \alpha = 0, \\ 1, & \alpha = 1, \\ \zeta F_{(\alpha-1)}(\zeta) + F_{(\alpha-2)}(\zeta), & \alpha \geq 2. \end{cases} \quad (1.3)$$

Definition 1.4. For any non-negative integer α , the *Chebyshev polynomials of the first kind* ($T_\alpha(\zeta)$) are defined by

$$T_\alpha(\zeta) = \cos \alpha \theta$$

where $\zeta = \cos \theta$, $\zeta \in [-1, 1]$, and $\theta \in [0, \pi]$ and follows the recursive relation

$$T_\alpha(\zeta) = \begin{cases} 1, & \alpha = 0, \\ \zeta, & \alpha = 1, \\ 2\zeta T_{\alpha-1}(\zeta) - T_{\alpha-2}(\zeta), & \alpha \geq 2. \end{cases} \quad (1.4)$$

Definition 1.5. For any non-negative integer α , the *Chebyshev polynomials of the second kind* ($U_\alpha(\zeta)$), are defined as

$$U_\alpha(\zeta) = \frac{\sin(\alpha+1)\theta}{\sin \theta},$$

where $\zeta = \cos \theta$, $\zeta \in [-1, 1]$, and $\theta \in [0, \pi]$ and follows the recursive relation

$$U_\alpha(\zeta) = \begin{cases} 1, & \alpha = 0, \\ 2\zeta, & \alpha = 1, \\ 2\zeta U_{\alpha-1}(\zeta) - U_{\alpha-2}(\zeta), & \alpha \geq 2. \end{cases} \quad (1.5)$$

Definition 1.6. For any non-negative integer α , the *Chebyshev polynomials of the third kind* ($V_\alpha(\zeta)$) are defined recursively as

$$V_\alpha(\zeta) = \frac{\cos(\alpha+1/2)\theta}{\cos(\frac{\theta}{2})},$$

where $\zeta = \cos\theta$, $\zeta \in [-1, 1]$ and $\theta \in [0, \pi]$ and follows the recursive relation

$$V_{\alpha}(\zeta) = \begin{cases} 1, & \alpha = 0, \\ 2\zeta - 1, & \alpha = 1, \\ 2\zeta V_{\alpha-1}(\zeta) - V_{\alpha-2}(\zeta), & \alpha \geq 2. \end{cases} \quad (1.6)$$

Definition 1.7. For any non-negative integer α , the Chebyshev polynomials of the fourth kind ($W_{\alpha}(\zeta)$) are defined recursively for as

$$W_{\alpha}(\zeta) = \frac{\sin(\alpha + 1/2)\theta}{\sin(\theta/2)},$$

where $\zeta = \cos\theta$, $\zeta \in [-1, 1]$ and $\theta \in [0, \pi]$ and follows the recursive relation

$$W_{\alpha}(\zeta) = \begin{cases} 1, & \alpha = 0, \\ 2\zeta + 1, & \alpha = 1, \\ 2\zeta W_{\alpha-1}(\zeta) - W_{\alpha-2}(\zeta), & \alpha \geq 2. \end{cases} \quad (1.7)$$

These polynomials are also represented by their explicit relation as follows^(4,12)

$$F_{\alpha}(\zeta) = \sum_{\beta=0}^{\left[\frac{\alpha-1}{2}\right]} \binom{\alpha-\beta-1}{\beta} (\zeta)^{\alpha-2\beta-1}. \quad (1.8)$$

$$T_{\alpha}(\zeta) = \frac{\alpha}{2} \sum_{\beta=0}^{\left[\frac{\alpha}{2}\right]} \frac{(-1)^{\beta} (\alpha-\beta-1)!}{\beta! (\alpha-2\beta)!} (2\zeta)^{\alpha-2\beta}. \quad (1.9)$$

$$U_{\alpha}(\zeta) = \sum_{\beta=0}^{\left[\frac{\alpha}{2}\right]} \frac{(-1)^{\beta} (\alpha-\beta)!}{\beta! (\alpha-2\beta)!} (2\zeta)^{\alpha-2\beta}. \quad (1.10)$$

$$V_{\alpha}(\zeta) = \sum_{\beta=0}^{[\alpha]} \frac{2^{\beta} (\alpha+\beta)!}{(2\beta)! (\alpha-\beta)!} (\zeta-1)^{\beta}. \quad (1.11)$$

$$W_{\alpha}(\zeta) = \sum_{\beta=0}^{[\alpha]} \frac{2^{\beta} (\alpha+\beta)!}{(2\beta)! (\alpha-\beta)!} (\zeta-1)^{\beta}. \quad (1.12)$$

Several authors have investigated Chebyshev polynomials and their properties and obtained a wide spectrum of interesting results, which have created a niche in the existing domain of mathematical research. Several mathematicians have shown keen interest in the domain of classical linearization problems and their generalization^(11,12). For instance, Zhang⁽¹³⁾ considered the representations of summations of finite products of 2nd kind Chebyshev polynomials, Lucas, and Fibonacci numbers and derived many intriguing identities, particularly

$$\sum_{\rho_1+\rho_2+\dots+\rho_{r+1}=\alpha} U_{\rho_1}(\zeta) \cdot U_{\rho_2}(\zeta) \cdots U_{\rho_{r+1}}(\zeta) = \frac{1}{2^r r!} U_{\alpha+r}^r(\zeta), \quad (1.13)$$

where $U_{\alpha}^r(\zeta)$ represents r^{th} derivative of $U_{\alpha}(\zeta)$ w.r.t ζ , and the sum is taken over all non-negative $\rho_1, \rho_2, \dots, \rho_{r+1}$ such that $\rho_1 + \rho_2 + \dots + \rho_{r+1} = \alpha$. A similar study was conducted by Kim T., Kim D.S., Dolgy D. V., and Kim D.⁽¹⁴⁾ in 2019 and obtained interesting results, expressing the sums of the finite products of Chebyshev polynomials as a linear combination of other orthogonal polynomials like Hermite, Legendre, extended Laguerre, Gegenbauer, and Jacobi polynomials. Similar representations for several orthogonal polynomials were developed by Han and L. Xing⁽¹⁵⁾, Patra and G.K. Panda and A.

Patra⁽¹²⁾, and J. Kishore, V. Verma, and A.K. Sharma^(16,17), also deduced analogous identities for sums of finite products of Chebyshev polynomials of the 1st and 2nd kind, Lucas and Fibonacci polynomials, and Pell polynomials. Analogous results are also obtained in⁽¹⁸⁾.

Based on the preceding literature, existing works have established identities on the sums of finite products of Lucas and Fibonacci numbers, Pell, and Chebyshev polynomials of 3rd and 4th kinds in terms of derivatives of Lucas polynomials, Pell polynomials, Fibonacci polynomials, but the results on the sums of finite products in terms of Lucas, Pell, and Fibonacci numbers, and Chebyshev polynomials of 3rd and 4th kinds in terms of 2nd kinds of Chebyshev polynomials and their derivatives have not been studied. With this motivation, we will consider new representations of sums of finite products of the Chebyshev polynomials of 3rd and 4th kinds, Lucas and Fibonacci numbers in terms of the 2nd kind of Chebyshev polynomials and their derivatives.

2 Methodology

The methods of differential calculus, combinatorial, and elementary algebraic computations are employed to yield the results.

3 Results and Discussion

In this section, we will discuss the primary findings of this manuscript. With the aid of elementary computational techniques, we will express the sums of finite products of the Chebyshev polynomials of third and fourth kind, Fibonacci numbers, and Lucas numbers in terms of the Chebyshev polynomials of 2nd kind and their derivatives. Firstly, we will consider the following lemmas which will be very helpful in the establishment of the key inferences of the manuscript.

Lemma 1. For any integer $\alpha \geq 0$,

$$V_{\alpha}(\zeta) = U_{\alpha}(\zeta) - U_{\alpha-1}(\zeta). \quad (2.1)$$

$$W_{\alpha}(\zeta) = U_{\alpha}(\zeta) + U_{\alpha-1}(\zeta). \quad (2.2)$$

$$W_{\alpha}(\zeta) = (-1)^{\alpha} V_{\alpha}(-\zeta). \quad (2.3)$$

Proof. This lemma can be established using the Equations (1.8), (1.9), (1.10), (1.11), (1.12) and (1.13) and using Binet's formula for Pell as well as Chebyshev polynomials of 2nd kind. Please refer^(4,17).

Lemma 2. For any integer $\alpha, r \geq 0$,

$$\begin{aligned} & \sum_{\rho_1 + \rho_2 + \dots + \rho_{r+1} = \alpha} V_{\rho_1}(\zeta) \cdot V_{\rho_2}(\zeta) \cdots V_{\rho_{r+1}}(\zeta) \\ &= \frac{1}{2^r r!} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{r+1}{\lambda} U_{\alpha-\lambda+r}^r(\zeta), \end{aligned} \quad (2.4)$$

$$\begin{aligned} & \sum_{\rho_1 + \rho_2 + \dots + \rho_{r+1} = \alpha} W_{\rho_1}(\zeta) \cdot W_{\rho_2}(\zeta) \cdots W_{\rho_{r+1}}(\zeta) \\ &= \frac{1}{2^r r!} \sum_{\lambda=0}^{\alpha} \binom{r+1}{\lambda} U_{\alpha-\lambda+r}^r(\zeta), \end{aligned} \quad (2.5)$$

where sums run over all non-negative integers $\rho_1, \rho_2, \dots, \rho_{r+1}$ such that $\rho_1 + \rho_2 + \dots + \rho_{r+1} = \alpha$ with $\binom{r+1}{\lambda} = 0$ for $\lambda > r+1$.

Proof. Please refer Kim T et.al.⁽¹⁴⁾.

The main findings of this manuscript are as discussed under:

Theorem 1. For $\alpha, r \geq 0$, we have

$$\begin{aligned} & \sum_{\rho_1+\rho_2+\dots+\rho_{r+1}=\alpha} V_{\rho_1}(\zeta) \cdot V_{\rho_2}(\zeta) \cdots V_{\rho_{r+1}}(\zeta) \\ &= \frac{1}{2^r r! (1-\zeta^2)} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{r+1}{\lambda} [(2r-1)\zeta U_{\alpha-\lambda+r}^{r-1}(\zeta) \\ & \quad - [(\alpha-\lambda+2)(\alpha-\lambda+2r)] U_{\alpha-\lambda+r}^{r-2}(\zeta)], \end{aligned}$$

where sum runs over all non-negative integers $\rho_1, \rho_2, \dots, \rho_{r+1}$ with $\rho_1 + \rho_2 + \dots + \rho_{r+1} = \alpha$, and $\binom{r+1}{\lambda} = 0$ for $\lambda > r+1$.

Proof. Firstly, from ⁽¹⁰⁾, we will note that for any positive integer $\alpha \geq r > 0$,

$$U_{\alpha+r}^r(\zeta) = \frac{(2r-1)\zeta}{(1-\zeta^2)} U_{\alpha+r}^{r-1}(\zeta) + \frac{(r-2)r - (\alpha+r)(\alpha+r+2)}{(1-\zeta^2)} U_{\alpha+r}^{r-2}(\zeta). \quad (2.6)$$

Thus,

$$\begin{aligned} U_{\alpha-\lambda+r}^r(\zeta) &= \frac{(2r-1)\zeta}{(1-\zeta^2)} U_{\alpha-\lambda+r}^{r-1}(\zeta) + \frac{(r-2)r - (\alpha-\lambda+r)(\alpha-\lambda+r+2)}{(1-\zeta^2)} U_{\alpha-\lambda+r}^{r-2}(\zeta) \\ &= \frac{(2r-1)\zeta}{(1-\zeta^2)} U_{\alpha-\lambda+r}^{r-1}(\zeta) - \frac{[\alpha(\alpha-\lambda+r) - \lambda(\alpha-\lambda+r) + r(\alpha-\lambda+2) + 2(\alpha-\lambda+r)]}{(1-\zeta^2)} U_{\alpha-\lambda+r}^{r-2}(\zeta) \\ &= \frac{(2r-1)\zeta}{(1-\zeta^2)} U_{\alpha-\lambda+r}^{r-1}(\zeta) - \frac{[(\alpha-\lambda+2)(\alpha-\lambda+r) + r(\alpha-\lambda+2)]}{(1-\zeta^2)} U_{\alpha-\lambda+r}^{r-2}(\zeta) \\ &= \frac{(2r-1)\zeta}{(1-\zeta^2)} U_{\alpha-\lambda+r}^{r-1}(\zeta) - \frac{[(\alpha-\lambda+2)(\alpha-\lambda+2r)]}{(1-\zeta^2)} U_{\alpha-\lambda+r}^{r-2}(\zeta), \\ \therefore U_{\alpha-\lambda+r}^r(\zeta) &= \frac{(2r-1)\zeta}{(1-\zeta^2)} U_{\alpha-\lambda+r}^{r-1}(\zeta) - \frac{[(\alpha-\lambda+2)(\alpha-\lambda+2r)]}{(1-\zeta^2)} U_{\alpha-\lambda+r}^{r-2}(\zeta). \quad (2.7) \end{aligned}$$

Using Equation (2.7) in Equation (2.4), we have

$$\begin{aligned} & \sum_{\rho_1+\rho_2+\dots+\rho_{r+1}=\alpha} V_{\rho_1}(\zeta) \cdot V_{\rho_2}(\zeta) \cdots V_{\rho_{r+1}}(\zeta) \\ &= \frac{1}{2^r r!} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{r+1}{\lambda} U_{\alpha-i+\lambda}^r(\zeta) \\ &= \frac{1}{2^r r!} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{r+1}{\lambda} \left[\frac{(2r-1)\zeta}{(1-\zeta^2)} U_{\alpha-\lambda+r}^{r-1}(\zeta) - \frac{[(\alpha-\lambda+2)(\alpha-\lambda+2r)]}{(1-\zeta^2)} U_{\alpha-\lambda+r}^{r-2}(\zeta) \right] \\ &= \frac{1}{2^r r! (1-\zeta^2)} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{r+1}{\lambda} [(2r-1)\zeta U_{\alpha-\lambda+r}^{r-1}(\zeta) - [(\alpha-\lambda+2)(\alpha-\lambda+2r)] U_{\alpha-\lambda+r}^{r-2}(\zeta)], \\ \therefore \sum_{\rho_1+\rho_2+\dots+\rho_{r+1}=\alpha} V_{\rho_1}(\zeta) \cdot V_{\rho_2}(\zeta) \cdots V_{\rho_{r+1}}(\zeta) \\ &= \frac{1}{2^r r! (1-\zeta^2)} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{r+1}{\lambda} [(2r-1)\zeta U_{\alpha-\lambda+r}^{r-1}(\zeta) - [(\alpha-\lambda+2)(\alpha-\lambda+2r)] U_{\alpha-\lambda+r}^{r-2}(\zeta)]. \end{aligned}$$

This proves the Theorem 1.

Theorem 2. For $\alpha, r \geq 0$, we have

$$\begin{aligned} & \sum_{\rho_1+\rho_2+\dots+\rho_{r+1}=\alpha} W_{\rho_1}(\zeta) \cdot W_{\rho_2}(\zeta) \cdots W_{\rho_{r+1}}(\zeta) \\ &= \frac{1}{2^r r! (1-\zeta^2)} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{r+1}{\lambda} [(2r-1)\zeta U_{\alpha-\lambda+r}^{r-1}(\zeta) - [(\alpha-\lambda+2)(\alpha-\lambda+2r)] U_{\alpha-\lambda+r}^{r-2}(\zeta)], \end{aligned}$$

where sum runs over all non-negative integers $\rho_1, \rho_2, \dots, \rho_{r+1}$ with $\rho_1 + \rho_2 + \dots + \rho_{r+1} = \alpha$ and $\binom{r+1}{\lambda} = 0$ for $\lambda > r+1$.

Proof. For proof of this theorem, we will proceed in a similar manner by using Equation (2.7) in Equation (2.5), to get the desired result.

Theorem 3. For $\alpha, r \geq 0$, we have

$$\begin{aligned} & \sum_{\rho_1 + \rho_2 + \dots + \rho_{r+1} = \alpha} F_{2\rho_1+1} \cdot F_{2\rho_2+1} \cdots F_{2\rho_{r+1}+1} \\ &= \frac{1}{2^{r-1} r!} \sum_{\lambda=0}^{\alpha} \frac{(-1)^{\lambda}}{5} \binom{r+1}{\lambda} \left[2[(\alpha - \lambda + 2)(\alpha - \lambda + 2r)] U_{\alpha-\lambda+r}^{r-2} \left(\frac{3}{2} \right) - 3(2r-1) U_{\alpha-\lambda+r}^{r-1} \left(\frac{3}{2} \right) \right], \end{aligned}$$

where sum runs over all non-negative integers $\rho_1, \rho_2, \dots, \rho_{r+1}$ with $\rho_1 + \rho_2 + \dots + \rho_{r+1} = \alpha$ and $\binom{r+1}{\lambda} = 0$ for $\lambda > r+1$.

Proof. Using the fact that $U_{\alpha} \left(\frac{3}{2} \right) = F_{2\alpha+2}$ in Equation (2.1), we have

$$V_{\alpha} \left(\frac{3}{2} \right) = F_{2\alpha+1}. \quad (2.8)$$

Replacing ζ by $\frac{3}{2}$ in Theorem 1, we have

$$\begin{aligned} & \sum_{\rho_1 + \rho_2 + \dots + \rho_{r+1} = \alpha} V_{\rho_1} \left(\frac{3}{2} \right) \cdot V_{\rho_2} \left(\frac{3}{2} \right) \cdots V_{\rho_{r+1}} \left(\frac{3}{2} \right) \\ &= \frac{1}{2^r r! \left(1 - \left(\frac{3}{2} \right)^2 \right)} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{r+1}{\lambda} \left[(2r-1) \left(\frac{3}{2} \right) U_{\alpha-\lambda+r}^{r-1} \left(\frac{3}{2} \right) - [(\alpha - \lambda + 2)(\alpha - \lambda + 2r)] U_{\alpha-\lambda+r}^{r-2} \left(\frac{3}{2} \right) \right], \end{aligned} \quad (2.9)$$

Using Equation (2.8) in Equation (2.9) with $\zeta = \frac{3}{2}$, it yields

$$\begin{aligned} & \sum_{\rho_1 + \rho_2 + \dots + \rho_{r+1} = \alpha} F_{2\rho_1+1} \cdot F_{2\rho_2+1} \cdots F_{2\rho_{r+1}+1} \\ &= \frac{1}{2^{r-1} r!} \left(-\frac{4}{5} \right) \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{r+1}{\lambda} \left[(2r-1) \left(\frac{3}{2} \right) U_{\alpha-\lambda+r}^{r-1} \left(\frac{3}{2} \right) - [(\alpha - \lambda + 2)(\alpha - \lambda + 2r)] U_{\alpha-\lambda+r}^{r-2} \left(\frac{3}{2} \right) \right] \\ &= \frac{1}{2^{r+1} r!} \left(\frac{4}{5} \right) \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{r+1}{\lambda} \left[2[(\alpha - \lambda + 2)(\alpha - \lambda + 2r)] U_{\alpha-\lambda+r}^{r-2} \left(\frac{3}{2} \right) - 3(2r-1) U_{\alpha-\lambda+r}^{r-1} \left(\frac{3}{2} \right) \right] \\ &= \frac{1}{2^{r-1} r!} \sum_{\lambda=0}^{\alpha} \frac{(-1)^{\lambda}}{5} \binom{r+1}{\lambda} \left[2[(\alpha - \lambda + 2)(\alpha - \lambda + 2r)] U_{\alpha-\lambda+r}^{r-2} \left(\frac{3}{2} \right) - 3(2r-1) U_{\alpha-\lambda+r}^{r-1} \left(\frac{3}{2} \right) \right], \end{aligned}$$

That is,

$$\begin{aligned} & \sum_{\rho_1 + \rho_2 + \dots + \rho_{r+1} = \alpha} F_{2\rho_1+1} \cdot F_{2\rho_2+1} \cdots F_{2\rho_{r+1}+1} \\ &= \frac{1}{2^{r-1} r!} \sum_{\lambda=0}^{\alpha} \frac{(-1)^{\lambda}}{5} \binom{r+1}{\lambda} \left[2[(\alpha - \lambda + 2)(\alpha - \lambda + 2r)] U_{\alpha-\lambda+r}^{r-2} \left(\frac{3}{2} \right) - 3(2r-1) U_{\alpha-\lambda+r}^{r-1} \left(\frac{3}{2} \right) \right], \end{aligned}$$

which establishes the Theorem 3.

Theorem 4. For $\alpha, r \geq 0$, we have

$$\begin{aligned} & \sum_{\rho_1 + \rho_2 + \dots + \rho_{r+1} = \alpha} L_{2\rho_1+1} \cdot L_{2\rho_2+1} \cdots L_{2\rho_{r+1}+1} \\ &= \frac{1}{2^{r-1} r!} \sum_{\lambda=0}^{\alpha} \frac{1}{5} \cdot \binom{r+1}{\lambda} \left[2[(\alpha - \lambda + 2)(\alpha - \lambda + 2r)] U_{\alpha-\lambda+r}^{r-2} \left(\frac{3}{2} \right) - 3(2r-1) U_{\alpha-\lambda+r}^{r-1} \left(\frac{3}{2} \right) \right], \end{aligned}$$

where sum runs over all non-negative integers $\rho_1, \rho_2, \dots, \rho_{r+1}$ with $\rho_1 + \rho_2 + \dots + \rho_{r+1} = \alpha$ and $\binom{r+1}{\lambda} = 0$ for $\lambda > r+1$.

Proof. For the proof of this Theorem, we will proceed in a similar manner as in Theorem 3. By using the fact $U_{\alpha}(\frac{3}{2}) = F_{2\alpha+2}$ in Equation (2.1), we get

$$W_{\alpha}\left(\frac{3}{2}\right) = L_{2\alpha+1}. \quad (2.10)$$

Taking $\zeta = \frac{3}{2}$ in Theorem 2 gives

$$\begin{aligned} & \sum_{\rho_1+\rho_2+\dots+\rho_{r+1}=\alpha} W_{\rho_1}\left(\frac{3}{2}\right) \cdot W_{\rho_2}\left(\frac{3}{2}\right) \cdots W_{\rho_{r+1}}\left(\frac{3}{2}\right) \\ &= \frac{1}{2^r r! \left(1 - \left(\frac{3}{2}\right)^2\right)} \sum_{\lambda=0}^{\alpha} \binom{r+1}{\lambda} \left[(2r-1) \left(\frac{3}{2}\right) U_{\alpha-\lambda+r}^{r-1}\left(\frac{3}{2}\right) - [(\alpha-\lambda+2)(\alpha-\lambda+2r)] U_{\alpha-\lambda+r}^{r-2}\left(\frac{3}{2}\right) \right], \end{aligned} \quad (2.11)$$

Using Equation (2.10) in Equation (2.11) yields,

$$\begin{aligned} & \sum_{\rho_1+\rho_2+\dots+\rho_{r+1}=\alpha} L_{2\rho_1+1} \cdot L_{2\rho_2+1} \cdots L_{2\rho_{r+1}+1} \\ &= \frac{1}{2^r r!} \left(-\frac{4}{5}\right) \sum_{\lambda=0}^{\alpha} \binom{r+1}{\lambda} \left[(2r-1) \left(\frac{3}{2}\right) U_{\alpha-\lambda+r}^{r-1}\left(\frac{3}{2}\right) - [(\alpha-\lambda+2)(\alpha-\lambda+2r)] U_{\alpha-\lambda+r}^{r-2}\left(\frac{3}{2}\right) \right] \\ &= \frac{1}{2^{r-1} r!} \left(\frac{4}{5}\right) \sum_{\lambda=0}^{\alpha} \binom{r+1}{\lambda} \left[2[(\alpha-\lambda+2)(\alpha-\lambda+2r)] U_{\alpha-\lambda+r}^{r-2}\left(\frac{3}{2}\right) - 3(2r-1) U_{\alpha-\lambda+r}^{r-1}\left(\frac{3}{2}\right) \right], \end{aligned}$$

That is,

$$\begin{aligned} & \sum_{\rho_1+\rho_2+\dots+\rho_{r+1}=\alpha} L_{2\rho_1+1} \cdot L_{2\rho_2+1} \cdots L_{2\rho_{r+1}+1} \\ &= \frac{1}{2^{r-1} r!} \sum_{\lambda=0}^{\alpha} \frac{1}{5} \cdot \binom{r+1}{\lambda} \left[2[(\alpha-\lambda+2)(\alpha-\lambda+2r)] U_{\alpha-\lambda+r}^{r-2}\left(\frac{3}{2}\right) - 3(2r-1) U_{\alpha-\lambda+r}^{r-1}\left(\frac{3}{2}\right) \right]. \end{aligned}$$

This proves the Theorem 4.

Corollary 1. For $\alpha \geq 0$, we have

$$\sum_{a+b+c=\alpha} V_a(\zeta) \cdot V_b(\zeta) \cdot V_c(\zeta) = \frac{1}{8} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{3}{\lambda} [P(\alpha, \lambda, \zeta) U_{\alpha-\lambda+1}(\zeta) - Q(\alpha, \lambda, \zeta) U_{\alpha-\lambda+2}(\zeta)],$$

where $P(\alpha, \lambda, \zeta) = \left(\frac{3\zeta(\alpha-\lambda+3)}{(1-\zeta^2)^2}\right)$ and $Q(\alpha, \lambda, \zeta) = \frac{(\alpha-\lambda+2)}{(1-\zeta^2)^2} ((\alpha-\lambda+4) - (\alpha-\lambda-1)\zeta^2)$.

Proof. From (10), we see that

$$U'_{\alpha}(\zeta) = \frac{(\alpha+1)}{(1-\zeta^2)} U_{\alpha-1}(\zeta) - \frac{\alpha\zeta}{(1-\zeta^2)} U_{\alpha}(\zeta). \quad (2.12)$$

Taking $r = 2$ in Theorem 2, we have

$$\begin{aligned} & \sum_{a+b+c=\alpha} V_a(\zeta) \cdot V_b(\zeta) \cdot V_c(\zeta) \\ &= \frac{1}{2^2 2! (1-\zeta^2)} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{3}{\lambda} \left[3\zeta U'_{\alpha-\lambda+2}(\zeta) - [(\alpha-\lambda+2)(\alpha-\lambda+4)] U_{\alpha-\lambda+2}(\zeta) \right] \end{aligned} \quad (2.13)$$

Using Equation (2.12) in Equation (2.13), we have

$$\begin{aligned} & \sum_{a+b+c=\alpha} V_a(\zeta) \cdot V_b(\zeta) \cdot V_c(\zeta) \\ &= \frac{1}{8(1-\zeta^2)} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{3}{\lambda} \left\{ \left[3\zeta \left(\frac{(\alpha-\lambda+3)}{(1-\zeta^2)} U_{\alpha-\lambda+1}(\zeta) - \frac{(\alpha-\lambda+2)\zeta}{(1-\zeta^2)} U_{\alpha-\lambda+2}(\zeta) \right) \right] - [(\alpha-\lambda+2)(\alpha-\lambda+4)] U_{\alpha-\lambda+2}(\zeta) \right\} \end{aligned}$$

$$\begin{aligned}
&= \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{3}{\lambda} \left[\left(\frac{3\zeta(\alpha-\lambda+3)}{8(1-\zeta^2)^2} \right) U_{\alpha-\lambda+1}(\zeta) - \left(\frac{3\zeta^2(\alpha-\lambda+2)}{8(1-\zeta^2)^2} + \frac{[(\alpha-\lambda+2)(\alpha-\lambda+4)]}{8(1-\zeta^2)} \right) U_{\alpha-\lambda+2}(\zeta) \right] \\
&= \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{3}{\lambda} \left[\left(\frac{3\zeta(\alpha-\lambda+3)}{8(1-\zeta^2)^2} \right) U_{\alpha-\lambda+1}(\zeta) - \frac{(\alpha-\lambda+2)}{8(1-\zeta^2)} \left(\frac{3\zeta^2}{(1-\zeta^2)} + (\alpha-\lambda+4) \right) U_{\alpha-\lambda+2}(\zeta) \right] \\
&= \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{3}{\lambda} \left[\left(\frac{3\zeta(\alpha-\lambda+3)}{8(1-\zeta^2)^2} \right) U_{\alpha-\lambda+1}(\zeta) - \frac{(\alpha-\lambda+2)}{8(1-\zeta^2)} \left(\frac{(\alpha-\lambda+4) - (\alpha-\lambda-1)\zeta^2}{(1-\zeta^2)} \right) U_{\alpha-\lambda+2}(\zeta) \right] \\
&= \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{3}{\lambda} \left[\left(\frac{3\zeta(\alpha-\lambda+3)}{8(1-\zeta^2)^2} \right) U_{\alpha-\lambda+1}(\zeta) - \frac{(\alpha-\lambda+2)}{8(1-\zeta^2)^2} ((\alpha-\lambda+4) - (\alpha-\lambda-1)\zeta^2) U_{\alpha-\lambda+2}(\zeta) \right],
\end{aligned}$$

$$\therefore \sum_{a+b+c=\alpha} V_a(\zeta) \cdot V_b(\zeta) \cdot V_c(\zeta) = \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{3}{\lambda} [P(\alpha, \lambda, \zeta) U_{\alpha-\lambda+1}(\zeta) - Q(\alpha, \lambda, \zeta) U_{\alpha-\lambda+2}(\zeta)],$$

where $P(\alpha, \lambda, \zeta) = \left(\frac{3\zeta(\alpha-\lambda+3)}{8(1-\zeta^2)^2} \right)$ and $Q(\alpha, \lambda, \zeta) = \frac{(\alpha-\lambda+2)}{8(1-\zeta^2)^2} ((\alpha-\lambda+4) - (\alpha-\lambda-1)\zeta^2)$.

This proves the Corollary 1.

Corollary 2. For $\alpha \geq 0$, we have

$$\begin{aligned}
&\sum_{a+b+c+d=\alpha} V_a(\zeta) \cdot V_b(\zeta) \cdot V_c(\zeta) \cdot V_d(\zeta) \\
&= \sum_{\lambda=0}^{\alpha} \frac{(-1)^{\lambda}}{48} \binom{4}{\lambda} [R(\alpha, \lambda, \zeta) U_{\alpha-\lambda+2}(\zeta) - S(\alpha, \lambda, \zeta) U_{\alpha-\lambda+3}(\zeta)],
\end{aligned}$$

where

$$R(\alpha, \lambda, \zeta) = \left[\frac{15\zeta^2 - (\alpha-\lambda+2)(\alpha-\lambda+6)(1-\zeta^2)}{(1-\zeta^2)^3} \right] (\alpha-\lambda+4),$$

and

$$S(\alpha, \lambda, \zeta) = (\alpha-\lambda+3)\zeta \left(\frac{15\zeta^2 - [(\alpha-\lambda+2)(\alpha-\lambda+6) + 5(\alpha-\lambda+5)](1-\zeta^2)}{(1-\zeta^2)^3} \right).$$

Proof. Again from ⁽¹⁰⁾, we see that

$$(1-\zeta^2) U_{\alpha}''(\zeta) = 3\zeta U_{\alpha}'(\zeta) - \alpha(\alpha+2) U_{\alpha}(\zeta). \quad (2.14)$$

Taking $r = 3$ in Theorem 1 with Equations (2.12) and (2.14), we have

$$\begin{aligned}
&\sum_{a+b+c+d=\alpha} V_a(\zeta) \cdot V_b(\zeta) \cdot V_c(\zeta) \cdot V_d(\zeta) \\
&= \frac{1}{2^3 \cdot 3!(1-\zeta^2)} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{4}{\lambda} \left[5\zeta U_{\alpha-\lambda+3}''(\zeta) - ((\alpha-\lambda+2)(\alpha-\lambda+6)) U_{\alpha-\lambda+3}'(\zeta) \right] \\
&= \frac{1}{48(1-\zeta^2)} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{4}{\lambda} \left(\begin{aligned} &5\zeta \left(\frac{3\zeta}{(1-\zeta^2)} U_{\alpha-\lambda+3}'(\zeta) - \frac{(\alpha-\lambda+3)(\alpha-\lambda+5)}{(1-\zeta^2)} U_{\alpha-\lambda+3}(\zeta) \right) \\ &- ((\alpha-\lambda+2)(\alpha-\lambda+6)) U_{\alpha-\lambda+3}'(\zeta) \end{aligned} \right)
\end{aligned}$$

$$\begin{aligned}
&= \frac{1}{48(1-\zeta^2)} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{4}{\lambda} \left[\frac{15\zeta^2}{(1-\zeta^2)} - (\alpha-\lambda+2)(\alpha-\lambda+6) \right] U'_{\alpha-\lambda+3}(\zeta) - \frac{5\zeta(\alpha-\lambda+3)(\alpha-\lambda+5)}{(1-\zeta^2)} U_{\alpha-\lambda+3}(\zeta) \\
&= \frac{1}{48(1-\zeta^2)} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{4}{\lambda} \left[\frac{15\zeta^2 - (\alpha-\lambda+2)(\alpha-\lambda+6)(1-\zeta^2)}{(1-\zeta^2)} \right] \\
&\quad \left(\frac{(\alpha-\lambda+4)}{(1-\zeta^2)} U_{\alpha-\lambda+2}(\zeta) - \frac{(\alpha-\lambda+3)\zeta}{(1-\zeta^2)} U_{\alpha-\lambda+3}(\zeta) \right) - \frac{5\zeta(\alpha-\lambda+3)(\alpha-\lambda+5)}{(1-\zeta^2)} U_{\alpha-\lambda+3}(\zeta) \\
&= \frac{1}{48(1-\zeta^2)} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{4}{\lambda} \left[\frac{15\zeta^2 - (\alpha-\lambda+2)(\alpha-\lambda+6)(1-\zeta^2)}{(1-\zeta^2)} \right] \\
&\quad \frac{(\alpha-\lambda+4)}{(1-\zeta^2)} U_{\alpha-\lambda+2}(\zeta) - (\alpha-\lambda+3)\zeta \left(\frac{15\zeta^2 - (\alpha-\lambda+2)(\alpha-\lambda+6)(1-\zeta^2)}{(1-\zeta^2)^2} + \frac{5(\alpha-\lambda+5)}{(1-\zeta^2)} \right) U_{\alpha-\lambda+3}(\zeta) \\
&= \sum_{\lambda=0}^{\alpha} \frac{(-1)^{\lambda}}{48} \binom{4}{\lambda} \left[\frac{15\zeta^2 - (\alpha-\lambda+2)(\alpha-\lambda+6)(1-\zeta^2)}{(1-\zeta^2)^3} \right] \\
&\quad (\alpha-\lambda+4) U_{\alpha-\lambda+2}(\zeta) - (\alpha-\lambda+3)\zeta \left(\frac{15\zeta^2 - [(\alpha-\lambda+2)(\alpha-\lambda+6) + 5(\alpha-\lambda+5)](1-\zeta^2)}{(1-\zeta^2)^3} \right) U_{\alpha-\lambda+3}(\zeta), \\
&\therefore \sum_{a+b+c+d=\alpha} V_a(\zeta) \cdot V_b(\zeta) \cdot V_c(\zeta) \cdot V_d(\zeta) = \sum_{\lambda=0}^{\alpha} \frac{(-1)^{\lambda}}{48} \binom{4}{\lambda} [R(\alpha, \lambda, \zeta) U_{\alpha-\lambda+2}(\zeta) - S(\alpha, \lambda, \zeta) U_{\alpha-\lambda+3}(\zeta)],
\end{aligned}$$

where

$$R(\alpha, \lambda, \zeta) = \left[\frac{15\zeta^2 - (\alpha-\lambda+2)(\alpha-\lambda+6)(1-\zeta^2)}{(1-\zeta^2)^3} \right] (\alpha-\lambda+4),$$

and

$$S(\alpha, \lambda, \zeta) = (\alpha-\lambda+3)\zeta \left(\frac{15\zeta^2 - [(\alpha-\lambda+2)(\alpha-\lambda+6) + 5(\alpha-\lambda+5)](1-\zeta^2)}{(1-\zeta^2)^3} \right).$$

This proves Corollary 2.

Corollary 3. For $\alpha \geq 0$, we have

$$\sum_{a+b+c=\alpha} W_a(\zeta) \cdot W_b(\zeta) \cdot W_c(\zeta) = \sum_{\lambda=0}^{\alpha} \binom{3}{\lambda} [P(\alpha, \lambda, \zeta) U_{\alpha-\lambda+1}(\zeta) - Q(\alpha, \lambda, \zeta) U_{\alpha-\lambda+2}(\zeta)],$$

where

$$P(\alpha, \lambda, \zeta) = \left(\frac{3\zeta(\alpha-\lambda+3)}{8(1-\zeta^2)^2} \right) \text{ and } Q(\alpha, \lambda, \zeta) = \frac{(\alpha-\lambda+2)}{8(1-\zeta^2)^2} ((\alpha-\lambda+4) - (\alpha-\lambda-1)\zeta^2).$$

Proof. For the proof of Corollary, we will take $r = 2$ in Theorem 2 and proceed similarly as in the proof of Corollary 1 to achieve the desired results.

Corollary 4. For $n \geq 0$, we have

$$\sum_{a+b+c+d=\alpha} W_a(\zeta) \cdot W_b(\zeta) \cdot W_c(\zeta) \cdot W_d(\zeta) = \sum_{\lambda=0}^{\alpha} \frac{1}{48} \binom{4}{\lambda} [R(\alpha, \lambda, \zeta) U_{\alpha-\lambda+2}(\zeta) - S(\alpha, \lambda, \zeta) U_{\alpha-\lambda+3}(\zeta)],$$

where

$$R(\alpha, \lambda, \zeta) = \left[\frac{15\zeta^2 - (\alpha-\lambda+2)(\alpha-\lambda+6)(1-\zeta^2)}{(1-\zeta^2)^3} \right] (\alpha-\lambda+4),$$

and

$$S(\alpha, \lambda, \zeta) = (\alpha - \lambda + 3) \zeta \left(\frac{15\zeta^2 - [(\alpha - \lambda + 2)(\alpha - \lambda + 6) + 5(\alpha - \lambda + 5)](1 - \zeta^2)}{(1 - \zeta^2)^3} \right).$$

Proof. For the proof of Corollary, we will take $r = 3$ in Theorem 2 and proceed similarly as in the proof of Corollary 2 to achieve the desired results.

Corollary 5. For $\alpha \geq 0$, we have

$$\sum_{a+b+c=\alpha} F_{2a+1} \cdot F_{2b+1} \cdot F_{2c+1} = \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{3}{\lambda} [A_{\alpha, \lambda} F_{2\alpha-2\lambda+4} + B_{\alpha, \lambda} F_{2\alpha-2\lambda+6}],$$

where $A_{\alpha, \lambda} = \frac{9}{25}(\alpha - \lambda + 3)$ and $B_{\alpha, \lambda} = \frac{1}{50}(\alpha - \lambda + 2)(5\alpha - 5\lambda - 7)$.

Proof . Here, we will use Equation (2.8) together with the fact $U_{\alpha}(\frac{3}{2}) = F_{2\alpha+2}$ in Theorem 3 for $\zeta = \frac{3}{2}$ with $r=2$. Then, we have

$$\begin{aligned} & \sum_{a+b+c=\alpha} F_{2a+1} \cdot F_{2b+1} \cdot F_{2c+1} \\ &= \frac{1}{2 \cdot 2!} \sum_{\lambda=0}^{\alpha} \frac{(-1)^{\lambda}}{5} \binom{3}{\lambda} \left[2[(\alpha - \lambda + 2)(\alpha - \lambda + 4)] U_{\alpha-\lambda+2}(\frac{3}{2}) - 3(3) U'_{\alpha-\lambda+2}(\frac{3}{2}) \right], \end{aligned}$$

Using Equation (2.12) with $\zeta = \frac{3}{2}$, we have

$$\begin{aligned} &= \frac{1}{4} \sum_{\lambda=0}^{\alpha} \frac{(-1)^{\lambda}}{5} \binom{3}{\lambda} \left[2[(\alpha - \lambda + 2)(\alpha - \lambda + 4)] U_{\alpha-\lambda+2}(\frac{3}{2}) - 9 \left(\frac{(\alpha - \lambda + 3)}{(1 - (\frac{3}{2})^2)} U_{\alpha-\lambda+1}(\frac{3}{2}) - \frac{(\alpha - \lambda + 2)(\frac{3}{2})}{(1 - (\frac{3}{2})^2)} U_{\alpha-\lambda+2}(\frac{3}{2}) \right) \right] \\ &= \frac{1}{20} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{3}{\lambda} \left[2[(\alpha - \lambda + 2)(\alpha - \lambda + 4)] F_{2\alpha-2\lambda+6} - 9 \left(\frac{(\alpha - \lambda + 3)}{(-\frac{5}{4})} F_{2\alpha-2\lambda+4} - \frac{(\alpha - \lambda + 2)(\frac{3}{2})}{(-\frac{5}{4})} F_{2\alpha-2\lambda+6} \right) \right] \\ &= \frac{1}{10} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{3}{\lambda} \left[[(\alpha - \lambda + 2)(\alpha - \lambda + 4)] F_{2\alpha-2\lambda+6} - 9 \left(\left(-\frac{2}{5} \right) (\alpha - \lambda + 3) F_{2\alpha-2\lambda+4} - \left(-\frac{3}{5} \right) (\alpha - \lambda + 2) F_{2\alpha-2\lambda+6} \right) \right] \\ &= \frac{1}{10} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{3}{\lambda} \left[[(\alpha - \lambda + 2)(\alpha - \lambda + 4)] F_{2\alpha-2\lambda+6} + 9 \left(\left(\frac{2}{5} \right) (\alpha - \lambda + 3) F_{2\alpha-2\lambda+4} \left(\frac{3}{2} \right) - \left(\frac{3}{5} \right) (\alpha - \lambda + 2) F_{2\alpha-2\lambda+6} \right) \right] \\ &= \frac{1}{10} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{3}{\lambda} \left[(\alpha - \lambda + 2) \left((\alpha - \lambda + 4) - \frac{27}{5} \right) F_{2\alpha-2\lambda+6} + \frac{18}{5} (\alpha - \lambda + 3) F_{2\alpha-2\lambda+4} \right] \\ &= \frac{1}{10} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{3}{\lambda} \left[\frac{1}{5} (\alpha - \lambda + 2) (5\alpha - 5\lambda - 7) F_{2\alpha-2\lambda+6} + \frac{18}{5} (\alpha - \lambda + 3) F_{2\alpha-2\lambda+4} \right] \\ &= \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{3}{\lambda} \left[\frac{9}{25} (\alpha - \lambda + 3) F_{2\alpha-2\lambda+4} + \frac{1}{50} (\alpha - \lambda + 2) (5\alpha - 5\lambda - 7) F_{2\alpha-2\lambda+6} \right], \\ &\therefore \sum_{a+b+c=\alpha} F_{2a+1} \cdot F_{2b+1} \cdot F_{2c+1} = \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{3}{\lambda} [A_{\alpha, \lambda} F_{2\alpha-2\lambda+4} + B_{\alpha, \lambda} F_{2\alpha-2\lambda+6}], \end{aligned}$$

where $A_{\alpha,\lambda} = \frac{9}{25}(\alpha - \lambda + 3)$ and $B_{\alpha,\lambda} = \frac{1}{50}(\alpha - \lambda + 2)(5\alpha - 5\lambda - 7)$.

This proves Corollary 5.

Corollary 6. For $\alpha \geq 0$, we have

$$\sum_{a+b+c+d=\alpha} F_{2a+1} \cdot F_{2b+1} \cdot F_{2c+1} \cdot F_{2d+1} = \frac{1}{150} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{4}{\lambda} [C_{\alpha,\lambda} F_{2\alpha-2\lambda+8} - D_{\alpha,\lambda} F_{2\alpha-2\lambda+6}],$$

where

$$C_{\alpha,\lambda} = 3(\alpha - \lambda + 3)((\alpha - \lambda + 2)(\alpha - \lambda + 6) + 27) - 5(\alpha - \lambda + 5),$$

and

$$D_{\alpha,\lambda} = 2[(\alpha - \lambda + 2)(\alpha - \lambda + 6) + 27](\alpha - \lambda + 4).$$

Proof. Here, we will follow the similar steps as in the proof of Corollary 6 and using Equation (2.8) in Theorem 3 for $\zeta = \frac{3}{2}$ with $r=3$ and $U_{\alpha}(\frac{3}{2}) = F_{2\alpha+2}$. We have

$$\begin{aligned} & \sum_{a+b+c+d=\alpha} F_{2a+1} \cdot F_{2b+1} \cdot F_{2c+1} \cdot F_{2d+1} \\ &= \frac{1}{5} \cdot \frac{1}{2^2 3!} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{4}{\lambda} \left[2[(\alpha - \lambda + 2)(\alpha - \lambda + 6)] U'_{\alpha-\lambda+3}(\frac{3}{2}) - 3 \cdot 5 U''_{\alpha-\lambda+3}(\frac{3}{2}) \right], \end{aligned}$$

Using Equations (2.12) and (2.14), with $\zeta = \frac{3}{2}$, we have

$$\begin{aligned} & \sum_{a+b+c+d=\alpha} F_{2a+1} \cdot F_{2b+1} \cdot F_{2c+1} \cdot F_{2d+1} \\ &= \frac{1}{120} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{4}{\lambda} \left[2[(\alpha - \lambda + 2)(\alpha - \lambda + 6)] U'_{\alpha-\lambda+3}(\frac{3}{2}) - 15 \left(\frac{3(\frac{3}{2})}{(1-(\frac{3}{2})^2)} U'_{\alpha-\lambda+3}(\frac{3}{2}) - \frac{(\alpha-\lambda+3)(\alpha-\lambda+5)}{(1-(\frac{3}{2})^2)} U_{\alpha-\lambda+3}(\frac{3}{2}) \right) \right] \\ &= \frac{1}{120} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{4}{\lambda} \left[[(\alpha - \lambda + 2)(\alpha - \lambda + 6) + 54] U'_{\alpha-\lambda+3}(\frac{3}{2}) - 12 \left((\alpha - \lambda + 3)(\alpha - \lambda + 5) U_{\alpha-\lambda+3}(\frac{3}{2}) \right) \right], \end{aligned}$$

Again using Equation (2.12) with $\zeta = \frac{3}{2}$, we have

$$\begin{aligned} & \sum_{a+b+c+d=\alpha} F_{2a+1} \cdot F_{2b+1} \cdot F_{2c+1} \cdot F_{2d+1} = \frac{1}{120} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{4}{\lambda} \\ & \left[[(\alpha - \lambda + 2)(\alpha - \lambda + 6) + 54] \left(\frac{(\alpha-\lambda+4)}{(1-(\frac{3}{2})^2)} U_{\alpha-\lambda+2}(\frac{3}{2}) - \frac{(\alpha-\lambda+3)(\frac{3}{2})}{(1-(\frac{3}{2})^2)} U_{\alpha-\lambda+3}(\frac{3}{2}) \right) - 12(\alpha - \lambda + 3)(\alpha - \lambda + 5) U_{\alpha-\lambda+3}(\frac{3}{2}) \right] \\ &= \frac{1}{120} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{4}{\lambda} \left[[(\alpha - \lambda + 2)(\alpha - \lambda + 6) + 54] \left(\frac{(\alpha-\lambda+4)}{(-\frac{5}{4})} U_{\alpha-\lambda+2}(\frac{3}{2}) - \frac{(\alpha-\lambda+3)(\frac{3}{2})}{(-\frac{5}{4})} U_{\alpha-\lambda+3}(\frac{3}{2}) \right) \right. \\ & \quad \left. - 12(\alpha - \lambda + 3)(\alpha - \lambda + 5) U_{\alpha-\lambda+3}(\frac{3}{2}) \right] \\ &= \frac{1}{60} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{4}{\lambda} \left[\left(\frac{-4}{5} \right) [(\alpha - \lambda + 2)(\alpha - \lambda + 6) + 27](\alpha - \lambda + 4) U_{\alpha-\lambda+2}(\frac{3}{2}) + \left(\frac{6}{5} \right) \right. \\ & \quad \left. [(\alpha - \lambda + 2)(\alpha - \lambda + 6) + 27](\alpha - \lambda + 3) U_{\alpha-\lambda+3}(\frac{3}{2}) - 6(\alpha - \lambda + 3)(\alpha - \lambda + 5) U_{\alpha-\lambda+3}(\frac{3}{2}) \right], \end{aligned}$$

$$\begin{aligned} & \sum_{a+b+c+d=\alpha} F_{2a+1} \cdot F_{2b+1} \cdot F_{2c+1} \cdot F_{2d+1} \\ &= \frac{1}{60} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{4}{\lambda} \left[\left(\frac{-4}{5} \right) [(\alpha - \lambda + 2)(\alpha - \lambda + 6) + 27](\alpha - \lambda + 4) F_{2\alpha-2\lambda+6} \right. \\ & \quad \left. + (\alpha - \lambda + 3) \left(\left(\frac{6}{5} \right) [(\alpha - \lambda + 2)(\alpha - \lambda + 6) + 27] - 6(\alpha - \lambda + 5) \right) F_{2\alpha-2\lambda+8} \right] \end{aligned}$$

$$\begin{aligned}
&= \frac{1}{60} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{4}{\lambda} \left[\begin{aligned} &(-\frac{4}{5}) [(\alpha-\lambda+2)(\alpha-\lambda+6) + 27] (\alpha-\lambda+4) F_{2\alpha-2\lambda+6} \\ &+ (\alpha-\lambda+3) ((\frac{6}{5}) ((\alpha-\lambda+2)(\alpha-\lambda+6) + 27) - 6(\alpha-\lambda+5)) F_{2\alpha-2\lambda+8} \end{aligned} \right] \\
&= \frac{1}{30} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{4}{\lambda} \left[\begin{aligned} &(-\frac{2}{5}) [(\alpha-\lambda+2)(\alpha-\lambda+6) + 27] (\alpha-\lambda+4) F_{2\alpha-2\lambda+6} \\ &+ (\frac{3}{5}) (\alpha-\lambda+3) (((\alpha-\lambda+2)(\alpha-\lambda+6) + 27) - 5(\alpha-\lambda+5)) F_{2\alpha-2\lambda+8} \end{aligned} \right] \\
&= \frac{1}{150} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{4}{\lambda} [3(\alpha-\lambda+3) (((\alpha-\lambda+2)(\alpha-\lambda+6) + 27) - 5(\alpha-\lambda+5)) F_{2\alpha-2\lambda+8} \\
&\quad - 2[(\alpha-\lambda+2)(\alpha-\lambda+6) + 27] (\alpha-\lambda+4) F_{2\alpha-2\lambda+6}], \\
\therefore \sum_{a+b+c+d=\alpha} F_{2a+1} \cdot F_{2b+1} \cdot F_{2c+1} \cdot F_{2d+1} &= \frac{1}{150} \sum_{\lambda=0}^{\alpha} (-1)^{\lambda} \binom{4}{\lambda} C_{\alpha,\lambda} F_{2\alpha-2\lambda+8} - D_{\alpha,\lambda} F_{2\alpha-2\lambda+6},
\end{aligned}$$

where

$$C_{\alpha,\lambda} = 3(\alpha-\lambda+3) (((\alpha-\lambda+2)(\alpha-\lambda+6) + 27) - 5(\alpha-\lambda+5))$$

and

$$D_{\alpha,\lambda} = 2[(\alpha-\lambda+2)(\alpha-\lambda+6) + 27] (\alpha-\lambda+4).$$

This proves the Corollary 6.

Corollary 7. For $n, r \geq 0$, we have

$$\sum_{a+b+c=\alpha} L_{2a+1} \cdot L_{2b+1} \cdot L_{2c+1} = \sum_{\lambda=0}^{\alpha} \binom{3}{\lambda} [A_{\alpha,\lambda} F_{2\alpha-2\lambda+4} + B_{\alpha,\lambda} F_{2\alpha-2\lambda+6}],$$

where $A_{\alpha,\lambda} = \frac{9}{25} (\alpha-\lambda+3)$ and $B_{\alpha,\lambda} = \frac{1}{50} (\alpha-\lambda+2) (5\alpha-5\lambda-7)$.

Proof. For the proof of Corollary 7, we will proceed similarly as in the proof of Corollary 5 and use Equation (2.10) in Theorem 4 for $\zeta = \frac{3}{2}$ with $r=2$ and $U_{\alpha}(\frac{3}{2}) = F_{2\alpha+2}$ to achieve the desired results.

Corollary 8. For $\alpha \geq 0$, we have

$$\sum_{a+b+c+d=\alpha} L_{2a+1} \cdot L_{2b+1} \cdot L_{2c+1} \cdot L_{2d+1} = \frac{1}{150} \sum_{\lambda=0}^{\alpha} \binom{4}{\lambda} [C_{\alpha,\lambda} F_{2\alpha-2\lambda+8} - D_{\alpha,\lambda} F_{2\alpha-2\lambda+6}],$$

where

$$C_{\alpha,\lambda} = 3(\alpha-\lambda+3) [((\alpha-\lambda+2)(\alpha-\lambda+6) + 27) - 5(\alpha-\lambda+5)].$$

and

$$D_{\alpha,\lambda} = 2[(\alpha-\lambda+2)(\alpha-\lambda+6) + 27] (\alpha-\lambda+4).$$

Proof. For the proof of Corollary 8, we will proceed similarly as in the proof of Corollaries 6 and use Equation (2.10) in Theorem 4 for $\zeta = \frac{3}{2}$ with $r=3$ and $U_{\alpha}(\frac{3}{2}) = F_{2\alpha+2}$ to achieve the desired results.

4 Conclusion

This study has considered the sums of finite products of Chebyshev polynomials of the 3rd and 4th kind as a linear combination of Chebyshev polynomials of 2nd kind and their derivatives. Similar results for Fibonacci and Lucas numbers are obtained. At the end, some particular cases of these results are discussed. These findings certainly provide prospective scholars with the possibility of expressing such sums in terms of other orthogonal polynomials. Additionally, it is feasible to examine the sums of finite products of different orthogonal polynomials as well. These findings are useful in handling summation problems arising in different fields of mathematics and the control theory is one such intriguing field.

References

- 1) Mishra V. Fibonacci Sequence : History and Modern Applications. In: History and Development of Mathematics in India. New Delhi. National Mission for Manuscripts and DK Printworld. 2022;p. 155–180. Available from: https://www.researchgate.net/publication/359541696_Fibonacci_Sequence_History_and_Modern_Applications.
- 2) Orhani S. Fibonacci Numbers as a Natural Phenomenon. *International Journal of Scientific Research and Innovative Studies*. 2022;1(1):7–13. Available from: <https://www.researchgate.net/publication/361824482>.
- 3) Chavan A, Suryawanshi C. Correlation of fibonacci sequence and golden ratio with its applications in engineering and science. *International Journal of Engineering and Management Research*. 2020;10(3):31–36. Available from: <http://dx.doi.org/10.31033/ijemr.10.3.5>.
- 4) George B, Doman S. The Classical Orthogonal Polynomials, Chapters 05-08. World Scientific Publishing Co Pvt Ltd. 2016. Available from: <https://doi.org/10.1142/9700>.
- 5) Castillo K, Petronilho J. Classical orthogonal polynomials revisited. *Results in Mathematics*. 2023;78(4):1–26. Available from: <https://doi.org/10.1007/s00025-023-01934-2>.
- 6) Ricci PE. Chebyshev polynomials, Rhodonea curves and pseudo-Chebyshev functions. A Survey. *Growth and Form*. 2020;1(1):20–32. Available from: <https://doi.org/10.2991/gaf.k.200124.005>.
- 7) Wanas AK, Swamy SR. Applications of the Second Kind Chebyshev Polynomials of Bi-Starlike and Bi-Convex λ -Pseudo Functions Associated with Sakaguchi Type Functions. *Earthline Journal of Mathematical Sciences*. 2023;13(2):497–507. Available from: <https://doi.org/10.34198/ejms.13223.497507>.
- 8) Frontczak R, Goy T. Chebyshev-Fibonacci polynomial relations using generating functions. 2021. Available from: <https://arxiv.org/pdf/2103.08015>.
- 9) Verma A, Pandey P, Verma V. Some Identities Involving Chebyshev Polynomial of Third Kind, Lucas Numbers and Fourth Kind, Fibonacci Numbers. *IAENG International Journal of Applied Mathematics*. 2023;53(4):1–8. Available from: https://www.iaeng.org/IJAM/issues_v53/issue_4/IJAM_53_4_08.pdf.
- 10) Siyi W. Some new identities of Chebyshev polynomials and their applications. *Advances in Difference Equations*. 2015;2015:1–8. Available from: <https://doi.org/10.1186/s13662-015-0690-5>.
- 11) Kim DS, Kim T. On sums of finite products of balancing polynomials. *Journal of Computational and Applied Mathematics*. 2020;377:1–11. Available from: <https://doi.org/10.1016/j.cam.2020.112913>.
- 12) Patra A, Panda GK. Sums of finite products of Pell polynomials in terms of hypergeometric functions. *Journal of the Egyptian Mathematical Society*. 2022;30(1):1–20. Available from: <https://doi.org/10.1186/s42787-022-00137-y>.
- 13) Zhang W. Some identities involving the Fibonacci numbers and Lucas numbers. *FIBONACCI QUARTERLY*. 2004;42:149–54. Available from: <https://users.dimi.uniud.it/~giacomo.dellariccia/Glossary/Lucas/Zhang%20W.2004.pdf>.
- 14) Kim T, Kim DS, Dolgy DV, Kim D. Representation by several orthogonal polynomials for sums of finite products of Chebyshev polynomials of the first, third and fourth kinds. *Advances in Difference Equations*. 2019;2019:1–6. Available from: <https://doi.org/10.1186/s13662-019-2058-8>.
- 15) Han D, Lv X. On the Chebyshev polynomials and some of their new identities. *Advances in Difference Equations volume*. 2020;2020:1–8. Available from: <https://doi.org/10.1186/s13662-020-02550-y>.
- 16) Kishore J, Verma V, Sharma AK. Some Identities on Sums of Finite Products of Chebyshev Polynomials of the Third and Fourth Kinds. *Communications in Mathematics and Applications*. 2023;14(1):59–66. Available from: <https://doi.org/10.26713/cma.v14i1.2079>.
- 17) Kishore J, Verma V. Some Identities on Sums of Finite Products of the Pell, Fibonacci, and Chebyshev Polynomials. *Indian Journal of Science and Technology*. 2023;16(12):941–955. Available from: <https://doi.org/10.17485/IJST/v16i12.2213>.
- 18) Kim T, Kim DS, Dolgy DV, Kwon J. Sums of finite products of Chebyshev polynomials of two different types. *AIMS Mathematics*. 2021;6(11):12528–12542. Available from: <https://doi.org/10.3934/math.2021722>.